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HDCP17.4%T A
B i |K A OuT IN GROSS HDCP NET
* 1|l AH 39 492 81| 11.3| 69.7
* 2R PERR 45 43 88| 17.3| 70.7
* 3|25 FIE 40 41 81| 10.1] 709
¥ 4 um T 40 44 84| 13.0| 71.0
* 537 7C zﬁﬁx 40 38 78] 6.0 720
6l S A 41 43 84| 120 | 72.0
x5kl == 39 41 80| 7.9 721
8|FHE HhE 42 A7 89| 16.7] 723
U 40 49 82| 9.6| 724
*10|2H %8 43 43 86| 13.6 | 724
Ntk F— 40 A7 87| 1441 72.6
12(H& 3% —BF 41 46 87| 142 | 728
13[ =8¢ FnHll 40 44 84| 10.5| 1735
14| 1 =EF 40 48 88| 144 73.6
*15|Elg 1EJA 37 40 771 3.1 73.9[s
16[Had =5 39 46 85| 10.3| 74.7
17174, =ik 44 A7 91| 16.1| 749
182 HHE A7 44 91| 159 | 75.1
19( 1] FEWG 41 A7 88| 12.8| 175.2
*20|f ] B 47 38 85| 9.7] 753
211 E3 44 43 87| 115]| 1755
2| Bk 2ok 49 41 90| 14.5]| 1755
23| EAT WL 45 46 91| 154 | 75.6
24| 5 @ 44 49 86| 10.2| 75.8
*25|{% & 44 A7 91| 152 | 75.8
26| LT 45 A7 92| 16.1] 75.9
270t IEE 48 49 90| 13.6| 76.4
28[nhE HEX 42 45 87| 9.9 | 771
29|55k Mt — 46 45 91| 13.6| 774
%30 )] EH— 41 40 81| 35| 715
31| Bfd] 1F— 43 41 84| 6.0 78.0
32|k ] 48 46 94| 15.6| 784
33| 4 fif SR A7 44 91| 12.0| 79.0
A[ME 44 49 93| 13.5| 795
35/ £ R 46 43 89 9.1] 799
36|%7 51 = HH 49 48 97| 17.1| 79.9
37K IEYE 48 49 97| 17.1| 79.9
38| A Ot A7 46 93| 12.8 | 80.2
39 )1l T 43 A7 90| 9.3| 807
10| A [E—FR 59 46 98] 14.1 ] 83.9
Ak FIRK 50 511 101] 15.8| 85.2
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* 1Kk TS 42 A7 89| 21.8| 67.2
LA NS 41 45 86| 18.1 ] 67.9
* 3| HLH FEE 44 44 88| 19.3| 68.7
* A[FR ] RKE 43 46 89| 18.6| 70.4
* 5| JEfT A8 42 90| 18.6| 71.4
G 50 43 93| 21.1] 719
*1|JHI0 e 48 45 93 20.9 | 72.1
8| iy ¥EfEE 40 42 82 9.6 7248
=R (AR 44 A7 91| 18.3| 727
*10| = A JIHT 45 50 95| 22.3| 727
NG M 55 59|  107| 34.3| 727
12|INJK Sk 46 45 91| 18.0| 73.0
13| g R B 45 49 94| 20.6 | 73.4
1401 [55 48 A7 95| 21.1] 73.9
*15|RikT JIE— 50 46 96| 22.1| 73.9
16718 B3 (M 46 46 92| 18.0 | 74.0
17| B— 51 48 99| 24.7 | 743
18|84 BA 55 46]  101] 262 | 74.8
19 IEAR FHEE 51 48 99| 23.8| 75.2
%20 FRRME £ — 50 46 96| 20.2 79.8
AJHK Bl 48 48 96| 20.0 | 76.0
2[5 3>z 48 50 98| 22.0 | 76.0
23|18 B 44 52 96| 19.2 76.8
MU 54 53]  107| 28.1| 78.9
*25)5Y) =L 51 511  102] 228 | 79.2
26| ST A7 50 97| 17.6| 79.4
21|=k: ¥ 55 48]  103| 235 79.5
28| AL AF 50 53]  103] 22.0 81.0
29| [7] FH $TEB 54 51| 105 23.8| 81.2
30| 52 Bk 49 55|  104] 21.7| 823
31hk Ik 52 501  102| 19.4 | 826
2 FE A 56 55 111| 274 | 83.6
3B K% 56 64| 120/ 36.0 | 84.0
|G sz 58 61| 119] 34.8| 84.2
%35\ K e 54 55|  109] 24.0 | 85.0
36(ff Y VI 52 59| 111 23.6 87.4
37|BlE 353 55 56| 111 22.9| 88.1
B BE 55 571 112] 199 | 92.1
39|/VEdE i) 59 64 123 30.5 92.5
ol BE= 64 62| 126] 312 94.8
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